EARAROBREBRT —5 XN—ZXBISH—F 202348168 (B) 2@FR#8H

U vSRAmE 1BISR 4 UEE] B (R B e - | 9 000 ®
[AE%) 1 & :8,000,000  ~ 23&:3,200,000 W  33#%:2,000,000 . 43#&:1,200,000 9 ~ 5 7&:800,000
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
WY v U= s 5 | AEE= 1:11.2 10-8  |35.4| 945 | 3 | 44 |SAFE &H)
R:FARTU— by R BRUD 0 =) Wy | (B BEWE
. . 1=
WP T 4 4 | SHEA 1:11.3 1-1 36.8]93.3 | 2 38 | RERX (RR)
Jrdsayyy- %.0 ) 4y | MEEE
RE-UR 8:/\ERRI VY J—YYT7—L
w [SikazNp1 : - HESRE (FR
F—HZ9ZH4 [B] it 4 5= (12.111/.2% 2-2 37.2] 8.7 | 5 (4_962) koo &)
R:O0—RApFO7 B:T4—YAN—Y J—=HUT7—L
— " JIIZBRE : - i
HILY T =N o4 | DB (11.132/.41) 33 37.3| 8.9 | 6 ?+822) ggﬂéﬁkg;i)
RIRIVIATAvIIFUT7— BT Ry—3 BDIT7—LA
S w 4 | SHER 1:12.3 8-5 36.9| 83.8 | 1 466 | RHEET (FER)
E-Zb7IvD [?1 - 530 a 14 ) |MOMOL=3v7
R:NZ—ka1—RX B:IZ-XLIE LAO94S5T7—1A
61111 |PxAYISRUYT it 6 Egﬂ?)ﬁ 1(:12.)4 6-10 |36.9| 82.9 | 10 | 472 Eé’iﬁ(iﬁ)
. 3/4
RIAYYTSyya B:PIAYF—Fw R O 5555574
=~ o _ 4 5 | BEEH 1:12.4 3-3 37.6| 833 | 7 470 | BEAAK (RR)
718013 77J_T7j2' Lo 5.0 s ) | @ *FvOvbIr—L
R:RwSXYF B:ISUYFTE—L (B) tBI1-—KL—yavEEI >
— L= # 5 | HOBX 1:12.5 8-7 37.0| 82.0 | 13 | 482 |MREBAIZ (RR)
88|12/ @=hrEOZTYU— A530 1/2 I\HREE—
R:=AYEOFI—Z @:=AYEOISU— 72 @2 | s
YN ~ s 4 | R 1:12.6 5-5 37.4| 812 | 4 34 | BRE— (ER)
9 2| —=Yavz /Y 56.0 172) _ () RRA—AL—Y VT
RFIFIIATUR B:LvRISHF AT 10 25550
=D 4 5 | R 1:12.8 6-8 37.31 793 | 9 482 | BOEN F®R)
100N 4 UT{_T[JIX ~ 56.0 <) “2) %) R#M-2057
Ri—5—yvF B:LFoshU—F RIS
= M3 ~ 4 5 | ARER4L 1:12.9 13-13 3.4 78.2 | 8 494 | EEMES ()
11/7[10| @34 XYY v4> [B] *52.0 /) ) | _(8) FEDms
R:Iv2RIVTA4 B:Nvryarvo—X TDHS
|, R = % 5 | RBRX 1:13.0 11-11 [36.9| 77.2 | 12 | 468 |EAEE (RR)
121516 [/N\UEJ2RT 1R 56.0 1 ) | @) HEL—RK—2
R:0-RAHFOP B:5TURRA T/ m SR PRl
W — 4 6 | AURAIZ 1:13.2 11-12 [37.2| 75.6 | 11 | 448 |AHE EHR)
B35 7| LY e 7350 (1 1/4) w) | (B 7995 -T7—i
R:AFNWTz—I) B:7VITSAFYR TIDST7P—LA
[ BN
Eh' 48.2-36.7

NOVIA LA | 12.3-10.7-11.5-11.8-12.2-12.7

@ 11— —&@BIE(I

13—F—
23—7—
39— | (+3,11) (5,13)-2-(1,4) (12,9)8(7.6)-10
43—7— | (+3,11)(5,13)-(2,912(4,8)1,6,7.10
@ I\R%
& B 8 160m | [D K 3-8 a60m | [ 4% 5 36 sg0m | [3mm | 3-8-11 3,460M
5 B 8 170F] 8-11 9%0m | | 5 5= 3-8 1,050/ | [ 388 | -3-11 19,0709
3 1903 311 760 | | 15 & 8-3 1,960
1 280/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



